
Shroud Covers
R2 jr. (14" Wide)
(After 2/29/00)



Shroud Covers
R2 jr. (14" Wide)
(After 2/29/00)

Item #'s 1-3 Shroud Covers
R2 jr. (14" Wide)

After 2/29/00
Item

Number Description Ocean
Blue

Emerald
Green

Liquid
Black

Candy
Apple
Red

1095406-NLA
 

1095407-NLA
 

1095409
 

1095408-NLA
 

Side Panel with
Rubber Bushing

 -  Right
1

See Note(s) A See Note(s) A See Note(s) A See Note(s) A
1095410

 
1095411

 
1095413

 
1095412

 
Side Panel with
Rubber Bushing

 -  Left
1

See Note(s) A See Note(s) A See Note(s) A See Note(s) A
1095386-NLA1095387-NLA1095389-NLA1095388-NLABattery Cover2
1095402-NLA1095403-NLA1095405-NLA1095404-NLATrunk Lid3

1096905
 

1096906
 

1096908
 

1096907
 

Color Conversion
Package See Note(s) B, A, C See Note(s) B, C, A See Note(s) C, B, A See Note(s) A, B, C

A - Decals not included.  See page titled, "Packaging, Literature and Decals." 
B - Includes Items 1-7, 9, 15. 
C - Not Shown. 

NOTE:

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

See Chart Item #'s 1-3 Shroud Covers 1 11-3
1070555-NLA NLA - Fastener, Dual Lock (5/8" W x 2" L) 1 24

1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 85
1028755 Screw, Phillips Pan Head (#10-32 x 5/8") 1 86

7930332-NLA NLA - Locknut, High Profile (#10-32) 25 17
1070594-NLA NLA - Bushing, Rubber 1 28
1070575-NLA NLA - Screw, SEMS w/ Washer (#10-32 x 7/8") 1 29
1050161-NLA NLA - Screw, Hex Head w/ Patch (5/16-18 x 1") 1 310
1088261-NLA NLA - Bracket, Shroud, Black - Right 1 111

1088262 Bracket, Shroud, Black - Left 1 111
1070577-NLA NLA - Plate, Trunk Clip 1 212
1070588-NLA NLA - Screw, Phillips Truss Head  (#10-32 x 1/2") 1 413
7930332-NLA NLA - Locknut, High Profile (#10-32) 25 114
1088497-NLA NLA - Fastener, Panel (5/8" W x 3/4" L) 1 115
1070556-NLA NLA - Fastener, Dual Lock (1" W x 2" L) 1 216

1086186 Hardware, Side Panel Attaching 1 1A,B
A - Not Shown.  
B - Includes Items 4-7 and 9-11.  

NOTE:

 


